VOCATIONAL EDUCATION AND TRAINING AUTHORITY(VETA) ST.ANSELM VOCATIONAL TRAINING CENTRE-CHALA(STAVTC)

FEES STRUCTURE FOR TECHNICAL CERTIFICATES PROGRAM 2023/24

TABLE 1:FOR DAY STUDENTS

LEVEL	MODE	TUITION FEES	REGISTRATION FEES	IDENTITY CARD	ACCOMODATION	MEALS	MEDICAL CONTRIBUTION(NHIF)	RIM	CAUTION MONEY	EXAMINATION FEES	GRADUATION/WELCOME LEVEL I	STUDY TOUR	STUDENT ORGANIZATION	CERTIFICATES(CERTIFICATES+TR ANSCRIPT)	LIBRARY MEMBERSHIP	TOTAL
ı	DAY	250,000	5,000	5,000		50,000	50,400	14,000	20,000	25,000	5,000	20,000	5,000	10,000	5,000	464,400
Ш	DAY	250,000	5,000	5,000		50,000	50,400	14,000	20,000	30,000	10,000	20,000	5,000	10,000	5,000	474,400
Ш	DAY	400,000	5,000	5,000		50,000	50,400	14,000	20,000	35,000	15,000	10,000	5,000	10,000	5,000	624,400
S.C	DAY	270,000	5,000	5,000		50,000		14,000	20,000	6,000	10,000	10,000	5,000	10,000	5,000	410,000
						A D L E 2-1	-OD DO	ADDIN	C CTUI	SENTS						
					1.	ABLE 2:I	-OK BO	AKUIN	G 210L	JEN 12	1	1			,	
ı	HOSTEL	200,000	5,000	5,000	150,000	250,000	50,400	14,000	20,000	15,000	5,000	20,000	5,000	10,000	5,000	754,400
Ш	HOSTEL	200,000	5,000	5,000	150,000	250,000	50,400	14,000	20,000	15,000	5,000	20,000	5,000	10,000	5,000	754,400
Ш	HOSTEL	350,000	5,000	5,000	150,000	250,000	50,400	14,000	20,000	15,000	5,000	10,000	5,000	10,000	5,000	894,400
S.C	HOSTEL	270,000	5,000	5,000	90,000	150,000		14,000	20,000	6,000	10,000	10,000	5,000	10,000	5,000	600,000

	TABLE 3:FEES AND OTHER COSTS MODE OF PAYMENTS										
S/N	DESCRIPTION	1ST YEAR	2ND YEAR	3RD YEAR	SUBTOTAL						
1	TUITION FEES	200,000	200,000	350,000	750000						
2	RIM	14,000	14,000	14,000	42000						
3	REGISTRATION FEE	5,000	5,000	5,000	15000						
4	CAUTION MONEY	20,000	20,000	20,000	60000						
5	* MEDICAL INSURANCE(NHIF)	50,400	50,400	50,400	151200						
6	IDENTITY CARD	5,000	5,000	5,000	15000						
7	EXAMINATION FEES	25,000	30,000	35,000	90000						
8	CERTIFICATE FEE	10,000			10000						
9	LIBRARY MEMBERSHIP FEE	5,000	5,000	5,000	15000						
10	ACCOMODATION	150,000	150,000	150,000	450000						
11	MEAL	250,000	250,000	250,000	750000						
12	STUDENT ORGANIZATION FEE	5,000	5,000	5,000	15000						
13	STUDY TOUR	20,000	20,000	10,000	50000						
14	GRADUATION/WELCOME LEVEL I & III	5,000	10,000	15,000	30000						
	GRAND TOTAL	764400	764400	914400	TZS 2,443,200.00						

TABLE 4:BASIC STUDENTS REQUIREMENTS 2024/25										
		DEL,R	E,& PPF	STUDENTS	ICT 8	ICT & SCA STUDENTS				
SN	DESCRIPTIONS	PRICE	QTY	TOTAL	PRICE	QTY	TOTAL			
1	MATRESS(2.5*6)	1	35,000	35000	1	35,000	35000			
2	BLACK TROUSER(BOYS)-ALL OCCUPATIONS	2	19,000	38000	2	19,000	38000			
3	BLACK TROUSER(GIRLS)-ONLY DEL,RE,PPF OCCUPATIONS	2	19,000	38000						
4	BLACK SKIRTS-FOR ICT & SCA STUDENTS	2	16,000	32000	2	16,000	32000			
5	BLACK SKIRTS-FOR DEL,RE,& PPF STUDENTS	1	16,000	16000						
6	LONG SLEEVES WHITE SHIRT-ALL OCCUPATIONS	2	12,000	24000	2	12,000	24000			
7	T-SHIRT-ALL OCCUPATIONS	2	10,000	20000	2	10,000	20000			
8	BLACK COAT(SUIT TYPE)	1	25,000	25000	1	25,000	25000			
9	TRACK SUIT		20,000	20000	1	20,000	20000			
10	SAFETY BOOT		25,000	25000						
11	HELMET	1	5,000	5000						
12	OVERALL/OVERCOAT	1	25,000	25000	1	25,000	25000			
13	MATHEMATICAL SET-ALL OCCUPATIONS	1	5,000	5000	1	5,000	5000			
14	EXERCISE BOOKS(QUIRE 3)	10	2,500	25000	10	2,500	25000			
15	NON-PROGRAMMABLE SCIENTIFIC CALCULATOR		25,000	25000	1	25,000	25000			
16	BLACK SHOES(STRING TYPE)		12,000	24000	2	12,000	24000			
17	BED SHEETS		5,000	15000	3	5,000	15000			
18	BLANKET	1	20,000	20000	1	20,000	20000			
19	BLACK TIE FOR BOYS/BLACK NECK TIE FOR GIRLS	1	3,000	3000	1	3,000	3000			
20	MOSQUITO NET	1	6,000	6000	1	6,000	6000			
21	TOWEL	1	5,000	5000	1	5,000	5000			
22	PLATE	1	1,000	1000	1	1,000	1000			
23	SPOON	1	500	500	1	500	500			
24	CUP	1	500	500	1	500	500			
25	BACKET	1	5,000	5000	1	5,000	5000			
26	FILES	3	2,000	6000	3	2,000	6000			
27	SPORTS WEAR	1	20,000	20000	1	20,000	20000			
	GRAND TOTAL			464000.00			380000.00			

TABLE 5:MODE OF PAYMENTS OF THE COLLEGE FEES/OTHER COSTS												
DESCRIPTION		1ST YEAR			2ND YEAR			SUB TOTAL				
DESCRIPTION	1ST INSTL	2ND INSTL	3RD INSTL	1ST INSTL	2ND INSTL	3RD INSTL	1ST INSTL	2ND INSTL	3RD INSTL			
TUITION FEES	50,000	75,000	75,000	50,000	75,000	75,000	100,000	100,000	150,000	750,000		
RIM	14,000			14,000			14,000			42,000		
REGISTRATION FEE	5,000			5,000			5,000			15,000		
CAUTION MONEY	20,000			20,000			20,000			60,000		
* MEDICAL INSURANCE(NHIF)	50,400			50,400			50,400			151,200		
IDENTITY CARD	5,000			5,000			5,000			15,000		
EXAMINATION FEES		25,000			30,000			35,000		90,000		
CERTIFICATE FEE	10,000									10,000		
LIBRARY MEMBERSHIP FEE	5,000			5,000			5,000			15,000		
ACCOMODATION	75,000	75,000		75,000	75,000		75,000	75,000		450,000		
MEAL	125,000	125,000		125,000	125,000		125,000	125,000		750,000		
STUDENT ORGANIZATION FEE	5,000			5,000			5,000			15,000		
STUDY TOUR	10,000	10,000		10,000	10,000			10,000		50,000		
GRADUATION/WELCOME LEVEL I & III	5,000				10,000		5,000	10,000		30,000		
TOTAL	379,400	310,000	75,000	364,400	325,000	75,000	409,400	355,000	150,000	2,443,200		

NB: 1.The costs paid by Elimu 4 Afrika to students with Sponsorship are meals, accommodation and Tuition Fees, the other costs shown on the Table 3,4 & 5 are on the student, parent/guardian, or his/her private sponsor.

- 2.All indicated Money shall be paid to the College Account as indicated to the Joining Instruction.
 - 3.* Only for those with No Membership with National Health Insurance Fund(NHIF).